	                           ANNEX 17 : Calculation of FBM indicators

	

	Here is an example from a FBM with 40 measurement done at random on a distributed ration of 2 food items; 

Each beneficiary is supposed to receive a food ration of 1,5 Kg of Oil and 5 Kg of Bulgur



	The data collected on the distribution point are presented in the 3 first columns of the following chart :

	N° of the measurement 

(from 1 to 40)

Weight  of Oil received by beneficiary i  (kg)
Weight of Bulgur received by beneficiary i (kg)
Number of people indicated on beneficiary card
Weight of oil received by each person (kg/person)
Weight of bulgur received by each person (kg/person)
i

oil I
bulgur i

d i
Poil i = oil i / di

Pbulgur i = bulgur i / d i



	Each beneficiary is supposed to receive a food ration of 1,5 Kg of Oil and 5 Kg of Bulgur

Using EXCEL command of "Insertion/Function" and choosing "statistic", you can calculated 

	directly the means, the standard deviation and then the confidence interval in which the targeted value

should be with a risk of 5%

	

	

	For Oil :

	

	Calculation of the Means for qty of oil received by each person gives :    Poil  = ( ( Poil i )/40 = 1,525

	

	Calculation of the Standard Deviation   : oil= (̅( ((Poil i  - Poil)2 / 40 ) = 0,267

	

	From these results, we can now determine the Confidence Interval at 5% of risk with the following the formula:

Poil +/- Ɲ (0,975) * (oil / (̅(40)  =  1,525  +/-  1,96 * 0,267/ 6,324  =  1, 525  +/-  0,0827

	

	Confidence Interval is between  (1,525 – 0,0827) = 1,442  and  (1,525 + 0,0827)  = 1,607

	

	We can conclude that the targeted weight of 1,5 Kg belongs to the interval, and distribution is good

	

	For Bulgur :

	Calculation of the Means for qty of bulgur received by each person gives :    Pbulgur  = ( ( Pbulgur i )/40 = 4,862

	

	Calculation of the Standard Deviation   : bulgur= (̅( ((Pbulgur i  - Pbulgur)2 / 40 ) = 0,414

	

	From these results, we can now determine the Confidence Interval  at 5% of risk with the following formula :

	Pbulgur +/- Ɲ (0,975) * (bulgur / (̅(40)  =  4,862  +/-  1,96 * 0,414/ 6,324  = 4,862 +/- 0,128

	

	Confidence Interval is between  (4,862 - 0,128) = 4,734  and   (4,8625 + 0,1284) = 4,990

	

	We can conclude that the target weight is 5 and does not belong to the interval : distribution is not good

	This result is interesting since the average weight seemed quite near the targeted value of 5 Kg;

	However, the result means that too many beneficiaries receive far too much and others far too little


Action contre la Faim, Food distribution module

Annex n°17-page 1/1

